
 

 

 

 

 

1)Translate these sentences. 

  1  He’s wearing trainers, jeans and a jacket. 

_________________________________________________________________. 

  2  He’s wearing a tracksuit, a T-shirt and a cap. 

__________________________________________________________________. 

3  She’s wearing a dress and a scarf.  

_______________________________________________________________. 

4  He’s wearing a sweatshirt, trousers and shoes. 

_______________________________________________________________. 

 

2)Order these sentences. 

 

1- Wearing / Is / a / tracksuit / he?  Is he wearing a tracksuit? 

Is / he / Yes  Yes, he is. 

 

2- cap she Is a wearing?  ______________________________________ 

isn´t / No / she  ___________________________________________. 

3- she / Is / sandals / wearing? __________________________________________. 

Yes / is / she  ______________________________. 

4 Is / sweatshirt / a / he / wearing?  _____________________________________. 

he / isn´t / No  ___________________________________. 

 

 

 

 

 

 



 

EXPLICACIÓN 

1-Traduce las siguientes oraciones. 

2-Ordena las siguientes oraciones como en el ejemplo. 

Recuerda: La palabra en negrita es la primera palabra de cada oración. 

 

*PARA TODOS AQUELLOS QUE TENGAN IMPRESORA PUEDEN IMPRIMIR LA FICHA. LOS 

QUE NO TENGAN IMPRESORA NO HAY NINGUN PROBLEMA; PUEDEN HACER LA FICHA EN 

LA LIBRETA COPIANDO SOLO LAS RESPUESTAS. 

RECORDAD QUE PODÉIS CONSULTAR TODO LO QUE QUERÁIS EN 

VUESTRO MATERIAL DE CLASE. 

 


